TOPIC  => Practice Questions 
Question: P and Q

A firm buys and sells two models, P and Q. The following unit costs are available (all figures are in £s and all costs are borne by the firm):






              P
              Q

Purchase cost



100

200


Delivery costs from supplier

  20 

  30


Delivery costs to customers

  22

  40


Coloured sales packaging costs
  15

  18


Selling price


            150

300

Required:

Calculate the figure to be included in closing stock for a unit of each model.

Question: Essplate Ltd.

Essplate Ltd. sells a particular item of stock which had the following movements during 19X2.


4th February
Purchase
40
@
£10
6th March
Purchase
20
@
£12
8th May
Sale
22
@
£30
9th Oct
Purchase
10
@
£15
1st Dec
Sale
35
@
£28

Required:

Calculate the value for closing stock assuming

(a) FIFO is used

(b) LIFO is used

(c) AVCO is used

Question: Barney Ltd.

Barney Ltd. have large stocks of an imported widget for which they have exclusive importation rights. They are considering the size of orders to make. Data collected includes:

[1] The costs of making one order is £80.

[21 Throughput is 8,000 units a year.

[3] Holding costs are 50p a unit a year.

[4] the supplier will only ship in multiples of 500 items.

(a) Calculate the economic order quantity for Barney Ltd.

The supplier takes six weeks from the order to delivery. There are 50 weeks in the year.

(b) Calculate the re-order level.

Question: FIFO

Explain the First In, First Out (FIFO) method of approximating the cost of stock.

Question: LIFO

Explain the Last In, First Out (LIFO) method of approximating the cost of stock. 

Question: AVCO

Explain the Average Cost method of approximating the cost of stock. 

Question: NRV

Explain the meaning of ‘lower of cost and net realisable value’. 

Question: Value

Explain how stocks of raw materials should be valued, and why.

Question: Stocks

Explain how stocks of finished goods should be valued, and why. 

Question: Method

The following stock-related transactions occurred during the period 1 July to 31 December.

Date                                             Transaction

25 July
Purchased 150 units of stock @ £20 each
28 August
Purchased 225 units of stock @ £30 each
15 September
Sold 305 units of stock @ £45 each
4 October
Sold 50 units of stock @ £45 each
10 November
Purchased 410 units of stock @ £40 each
23 December
Sold 100 units of stock @ £75 each

Additional Information:

1. The Balance Sheet as at 1 July was as follows:


Bank
£10000

Capital Account
£10,000

2. Two months’ credit is received from suppliers.

3. One month’s credit is allowed to customers.

4. Expenses of £1,400 are paid by cheque each month as incurred.

5. The purchase and sale prices referred to above are exclusive of VAT. Purchases are liable to VAT 

    at the rate of 10% and sales are liable to VAT at the rate of 20%.

Required:

(a)
Calculate the value of stock on hand at the end of each month during the period 1 July to 31 December, using the First In, First Out method (FIFO); and

(b)
Prepare a Trading and Profit and Loss Account and Balance Sheet for the period 1 July to 31 December.

Question: Stock-In-Trade

From the following figures calculate the closing stock-in-trade that would be shown using (i) FIFO, (ii) LIFO, (iii) AVCO methods.

Bought
                                            Sold

January
10 at £30 each
April
8 for £46 each
March
10 at £34 each
December
12 for £56 each
September
20 at £40 each

Question: Stock-In-Trade (revisited)

Draw up the trading account for the year showing the gross profits that would have been reported using (i) FIFO, (ii) LIFO, (iii) AVCO methods.

Question: Broadway School

The sixth formers at the Broadway School run a tuck shop business. They began trading on 1st 

December 19X9 and sell two types of chocolate bar, ‘Break’ and ‘Brunch’.

- Their starting capital was a £200 loan from the School Fund.

- Transactions are for cash only.

- Each Break costs the sixth form l6p and each Brunch costs l2p.

- 25% is added to the cost to determine the selling price.

Transactions during December are summarised as follows:

December 6
Bought 5 boxes, each containing 48 bars, of Break; and 3 boxes, each containing 36 bars, of Brunch.

December 20    The month’s sales amounted to 200 Breaks and 90 Brunches.

Required:

(a)
Determine the cash, purchases and sales balances. All calculations must be shown.

(b) On 20 December (the final day of term) a physical stocktaking showed 34 Break and 15 Brunch in stock. Using these figures, calculate the value of the closing stock.

(c) Prepare a trading account for the tuck shop, calculating the gross profit/loss for the month of December 1 9X9.

(d)
Calculate the number of each item that should have been in stock. Explain why this information should be a cause for concern.

Question: Thomas Brown and Partners

Thomas Brown and Partners, a firm of practising accountants, have several clients who are retail distributors of the Ailgush Paint Spray guns.

The current price list of Gushing Sprayers Limited, manufacturers, quotes the following wholesale prices for the Allgush Paint Spray guns:

Grade A distributors £500 each

Grade B distributors £560 each

Grade C distributors £600 each

The current normal retail price of the Ailgush Paint Spray gun is £750.

Thomas Brown and Partners are currently advising some of their clients concerning the

valuation of stock in trade of Allgush Paint Spray guns.

1. Charles Gray -Grade B distributor

On 30 April 19X1, 15 Allgush Paint Spray guns were in stock, including 1 gun which was slightly damaged and expected to sell at half the normal retail price. Charles Gray considers that this gun should remain in stock at cost price until it is sold.

K. Peacock, a customer of Charles Gray, was expected to purchase a spray gun on 30 April 19X1, but no agreement was reached owing to the customer being involved in a road accident and expected to remain in hospital until late May I 9X1.

Charles Gray argues that he is entitled to regard this as a sale during the year ended 30 April 19X1.

2. Jean Kim -Grade C distributor

On 31 May 19X1, 22 Allgush Paint Spray guns were in stock. Unfortunately Jean Kim’s business is suffering a serious cash flow crisis. It is very doubtful that the business will survive and therefore a public auction of the stock in trade is likely. Reliable sources suggest that the spray guns may be auctioned for £510 each, auction fees and expenses are expected to total £300.

Jean Kim has requested advice as to the basis upon which her stock should be valued at 31 May 19X1.

3. Peter Fox -Grade A distributor

Peter Fox now considers that stock valuations should be related to selling prices because of the growing uncertainties of the market for spray guns.

Alternatively, Peter Fox has suggested that he uses the cost prices applicable to Grade C distributors as the basis for stock valuations — ‘after all this will establish consistency with Grade C distributors’.

Required:

A brief report to each of Charles Gray, Jean Kim and Peter Fox concerning the valuation of their stocks in trade. (Answers should include references to appropriate accounting concepts)

Question: Stock Conventions

‘The idea that stock should be included in accounts at the lower of historical cost and net realisable value follows the prudence convention but not the consistency convention.’

Required:

(a)
Do you agree with the quotation?

(b)
Explain, with reasons, whether you think this idea (that stocks should be included in accounts at the lower of historical cost and net realisable value) is a useful one. Refer to at least two classes of user of financial accounting reports in your answer.

Question: EN Ltd.

EN Ltd. uses 50,000 units of RM1 per annum. Each unit of RM1 costs £10 and the cost of placing an order is estimated to be £36. Annual carrying cost is taken as 5% of the stock value.

Required:

a)
What do you understand by the term economic order quantity?

b)
What assumptions are taken in calculating the economic order quantity?

c)
What is the economic order quantity for EN Ltd.?

Question: TX Ltd.

TX Ltd. manufactures a wide range of products. Over the past number of weeks there have been continuous problems with stock-out of material X. In order to address the problem, the company has decided to set stock levels. The following information has been estimated:

Demand
= 25,000 kilos per annum
Cost
= 50p per kilo
Cost of placing one order
= £50
Lead time
= 3 to 5 weeks
Weekly demand
= 450 to 550 kilos per week

Holding cost is estimated at 20% of cost.

Required:

Calculate:

a)   the re-order level

b)
the economic order quantity

c)
the minimum level

d)
the maximum level

e)
average stock

Question: TP Ltd.

TP Ltd. uses two raw materials, A and B. The demand for raw material A is between 400 and 800 kilos per week and the demand for raw material B is between 1,000 to 1,500 litres per week. The lead time for delivery of raw material A is two to six weeks and for raw material B, four to twelve weeks. The EOQ is 6,000 for raw material A and 5,000 for raw material B.

Required:

You are required to calculate the maximum level, the minimum level, the re-order level, and average stock for both materials.

Question: XP Ltd.

XP Ltd. is a manufacturing company with high stock requirements. Management are currently considering their stockholding policy.

The following information is available for one stock item, material X153, which has a value of £10 

per kilo:



Maximum
Minimum

Weekly demand
2,000 kilos
1,600 kilos

Lead time
 16 days
 10 days

The company works a five-day week for 50 weeks per annum. The cost of placing an order is £90 and the holding cost is estimated at 10% of stock value.

Required:

a) You are required to calculate the maximum level, the minimum level, the re-order level, and the economic order quantity for material X153.

b) It has been suggested that the company should implement a just-in-time purchasing policy. Briefly 

describe just-in-time purchasing and list the characteristics of JIT purchasing.

Question: Transactions


Transactions relating to a product for the first period of this accounting year are listed below:

Balance on the 1st was 800 units valued at £1.24 each.


Receipts
Issues


3rd
 400 units, invoice total £480
8th
800 units

9th
1,000 units, invoice total £1150
10th
800 units

11th
1,200 units, invoice total £1320
15th
800 units

16th
1,000 units, invoice total £1200
18th
800 units



21st
600 units

The standard cost of the product is £1.20.

Required:

a) Record the above transactions using the following pricing methods: FIFO, LIFO, weighted average and standard cost;

b) Discuss three different options for calculating an average price.

Question: ZX Ltd.

The management at ZX Ltd. are currently assessing their stock valuation policy. You have been requested to prepare valuations for each issue and for closing stock using three different valuation methods. Also suggest which method you would favour, stating your reasons.

Opening stock consisted of 300 litres valued at £24.20 each. Transactions for March are as follows:


 1st  March
GRN 105
2,000 litres @ £24.50

 3rd March
GRN155
2,000 litres @ £25.00

 5th March
Job 1223
2,500 litres

 9th March
GRN169
3,000 litres @ £25.10

10th March
Job 1334
2,200 litres

12th March
GRN178
2,000 litres @ £24.60

15th March
Job 1339
3,100 litres

18th March
GRN196
3,500 litres @ £25.30

21st March
Job 1348
1,800 litres

25th March
Job 1352
2,700 litres

Question: US Ltd.

US Ltd. import one of their main raw materials from the United States. The company is invoiced in US$ but the stores ledger accounts are maintained in Pounds using the weighted average method of stock valuation. The opening balance of 1,000 kilos was pur​chased at $20.00 when the exchange rate was $1.59 to the £.


1st May
received
2,000 kilos @ $20.00 per kilo  -exchange $1.56 to £

3rd May
issued
1,500 kilos

5th May
issued
 500 kilos

8th May
received
2,000 kilos @ $20.00 per kilo -exchange $1.52 per £

10th May
issued
1,000 kilos

15th May
received
1,000 kilos @ $20.50 per kilo -exchange $1.58 per £

18th May
issued
1,900 kilos

22nd May
received
1,500 kilos @ $20.60 per kilo -exchange $1.56 per £

24th May
issued
1,800 kilos

29th May
received
1,000 kilos @ $20.60 per kilo -exchange $1.51 per £

Required:

Record the above transactions.

Question: FP Ltd.

FP Ltd. are paving contractors. The main raw material used is paving slabs. The slabs are imported and because of currency exchange problems the price appears to be con​stantly increasing. The company currently issues the oldest slabs first and uses the FIFO method of charging stock to clients. Management are concerned about this pricing policy.

Required:

Write a short report outlining an alternative system, listing its advantages and any problems that may arise. Re-state the stores ledger account below to help illustrate your method.

LIFO





Date
In
Out

Balance

3rd 
100,000 @ 1.25


20,000 @ 1.10

100,000 @ 1.25

= 147,000

5th 

20,000 @ 1.10

60,000 @ 1.25

40,000 @ 1.25

= 50,000

10th 
150,000 @ 1.35


40,000 @ 1.25

150,000 @ 1.35

= 252,500

12th 

40,000 @ 1.25

120,000 @ 1.35

30,000 @ 1.35

= 40,500

17th 
80, 000 @ 1.42


30,000 @ 1.35

80,000 @ 1.42

= 154,100

Closing stock value is £154,100

Question: Control

Write a report outlining the essentials of material control.

Question: Code HD1000

The stores ledger card for hard disks, product code HD1000, has been lost. The following information is available to you: re-order level is when free stock reaches 900 units; the order quantity is 2,000 units. Balances at the end of December were: allocated stock 800 units, ordered stock 1,000 units and physical stock 1,600 units. Totals for transactions for January and February are as follows:




Jan.
Feb.

Stock received

2,500
1,100

Stock issued

1,600
2,100

Stock ordered

2,000
2,000

Stock allocated

1,600
3,500

Required:

You are required to recreate the Stores Ledger Card recording all of the above (assume that orders were raised when necessary).

Question: DC Ltd.

DC Ltd. is currently operating with decentralised stores for raw materials. Management are considering an option to convert to a centralised store. Discuss the decision and outline the benefits of a centralised store and some of the problems that may occur.

Question: JIT

Prepare a short report outlining the just-in-time concept. Your report should include the advantages of adopting a JIT philosophy.
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